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19. 9  

1                                                1 3  

2                                                    1 2  

3                                                    1 2  

                                                       1 2  

20. 8  

1                       1 2  

2 H2SO4 H2O                                                                       1 2  

3 NH4NO3                                                                                      2  

4 2S2Cl2+2H2O=SO2+3S +4HCl                                                         2  

21. 13  

1 CH2=CH2                                                 2 1  

2 CH3COOH + CH3CH2OH          CH3COOC2H5 + H2O                        3  

                                                1  

3                                                                      1  

H2SO4 

 



   8  2 

4 Na2CO3                                              2 1  

5            1 2  

22. 13   

1 Ca(OH)2+2NH4Cl===CaCl2+2H2O+2NH3↑                                                2  

2 ac                                                       1 2  

3 a                                             1 2  

4 NH3+HCl= NH4Cl                                  1 2  

D                                                1  

5                                                   1 3  

23. 13  

1                                                            1  

2 SO2                                        2  

3 Cu 2H2SO4 ===CuSO4 SO2↑ 2H2O                             2  

4 SO
2- 

4                                          1 2  

BaCl2                 1  

5 BaSO4                                                              1  

bc                                                        1 2  

6 448                                                                2  

 


